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[3804]-101
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-101 : Micro-Economic Analysis—I)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answer should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) “Inductive and deductive methods are both needed for economic
analysis, as the right foot and the left foot are both needed

”»

for walking.” Discuss.

(2) “The consumer’s equilibrium occurs only at a point of tangency
between indifference curve and price line.” Discuss. Show how
indifference curve analysis is superior to the Marshallian cardinal

utility analysis.

2. Answer any one of the following questions in 500 words : [20]

(1) State and explain Prof. Samuelson’s revealed preference theory

of demand. Explain the criticism have been levelled on it.
P.T.O.



(2)
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What is consumer’s surplus ? How is consumer’s surplus measured
with the help of indifference curve ? Critically evaluate the

concept of consumers surplus.

3. Answer the following questions in 250 words each (any

two) : [20]

(1) What 1is Iso-quants ? Explain the properties of
Iso-quants.

(2) Explain in brief the law of variable proportion.

(3) Distinguish between economic cost and accounting cost. Which
should be taken into account for calculating the economic profit
of the firm ? Why ?

(4) What is average, marginal and total revenue ? Illustrate
these concepts with the help of curves and suitable numerical
examples.

4, Write short notes in 100 words each (any four) : [20]

(1) Importance of micro-economics.

(2) Cross-elasticity of demand.

(3) Internal economies and dis-economies

(4) Long-run average cost curve.

(5)  Cobb-Douglas production function.

(6) Static economics.



(WS wUIaR)
q% : o\ A TR T : 80

oAl :— () Wd WA Is ST
(i) SoElhEls 2k YUl O SFiferd.

(fii) SW THRI °F HeHs STHE.

(fv) STeRIR dI Yook AR Gl

(v) TEUHIS! Hod TUSH WEuAHT Tl

1. UTOoUwh HUAR Tk W™ SK® 500 IE@ foRl [20]
(1) ““SHYHET SI[SUTESt ISedl STl SeAl 3TN Q! Uil RS 3AHd
YA A1l forSwomars! = enfor fmee S|T Sel 9gdl AR TS

FaE.’’ ==t %

(2) 'SuvEETl WEdIe e HEGW g ST fREd YW A= wHifegad
uEd Adl' S99 wU. ARle AN gedEes SuAiTal  farosumae
gl Tk forowun w9 953 e 9 SEiEn

2. TPGUH! HUARI T WA SW 500 =@ fowr e [20]

(1) 9. 9edd Il AFUiEl Yehe Tudl faga 9 9 TR Hha. |

IO JUTAT ekl T .

(2) SUdEE HAMTYE WUN & ? GUINl el dRreA  SuYERr
HAETYe ey Hiead 7 ST A 91 Fehedd Skl

HodAHIMA ol
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3. UWolo WHAEl A&l 250 3ITeld S f@er (FIvgt 9F) [20]

(1) 9H-3ARA 9% TWUS & ? HA-IURA Tk TUHH TR H.

(2) oAl YHIMEN 99 aiesdad T2 hil.
(38) oMfefer @ amfor JWdiid ©d Ao ik 9. STRTHEIEn el

TR HISOIEET R0l Ed foerd Sdd 2 T 2

faY

(4) W, O o TR W WIS & ? T Heheddl Ao

afor Ay Hifemshd SRl 9 faie &

4, WG A GIH 100 =@ foRl (@R WR) [20]
(1) g&H SARTE Hed
(2) HETUIE weeh  @ellehd
(3) ofdid w=dl g .

(4) <TrHwEE Ed ™

(5) hld-TTBY IART oA

(6) Terdzio s1elkme.
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[3804]-102
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-102 : Public Finance)
(2008 PATTERN)

Three Hours Maximum Marks : 80
— (1) Attempt Al questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

(iv) Draw net diagrams wherever necessary.

Answer the following questions in 500 words each (any one) : [20]
(i) Explain in detail the Fiscal functions of the Government.

(i) State and explain the meaning, types and determinants of “Taxable
Capacity”.

Answer the following questions in 500 words each (any one) : [20]
(i) Explain in detail the principle of Social Cost Benefit Analysis.
(i) Critically examine the theories of Tax Shifting.

Answer the following questions in detail with 250 words each
(any two) : [20]

(i) The role of Government in Mixed Economy.

(i1) Explain the “Wagner’s Law of Public Expenditure”.

P.T.O.



(iiz) Explain “Wiseman-Peacock Hypothesis” of the growth of Public

Expenditure.

(iv) Distinguish between Impact and Incidence of Tax.

4, Write short notes on (any four) : [20]
(i)  Private Goods and Public Goods
(ii) Benefit principle of Taxation
(iit) Pure theory of Public expenditure
(iv) Types of Incidence
(v)  Classification of Public debt

(vi) Public debt Management.

(W& T UIW)
d9% : o a™ THUT 0T ;80
T :— () |& Yz e
(ii) ISElhele 3 YO O SRiferr.

({ii) SW THA! 9 HLHS THME[.

(iv) 3TeRISR d9 Yook AR HIal.

(v) TEIEE Yoo TUSH YEAUAHT TR,

1. T WARN SW YR 500 I®W fodl (FUae Th) [20]

(1) IMEETEl (USRS hid | Gfasl TS R

(i) ‘HeIuEEr’ arEn Ad, weguEad YRR onfur e wew @i o
W HA.
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TOe WAl SW U 500 IRM fow (FOAE W) [20]

() ‘EmfSer EE-oy forouume do’ gfasait T .

(i) HEHRHAN f9giae ke T R

NN

GG Gl S YRkl 250 I Rl (FIUdel 9F) [20]

(i) Thg sderddle W=l i

(ii) WESMe TEET R I faga T S

(iii) ‘' oESA-fyeie '’ AN GESe @ gSreN i heddl TR

Gv) ‘HTEE g CHER AT W T

e T foe (P ar) [20]

(i) EeE 9% oA grese e
(ii)) KT @9 T
({ii) deNHe TEEn  3Is faga

(lv) HIE YRR

adl

< TR0

[
[

(v) WESAHE FH

(vi) WESE H  FTEIH.
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[3804]-103
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-103 : Agricultural Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt Al questions.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 500 words (any one) : [20]

(i) Explain the causes and remedies of low productivity of Indian

Agriculture.

(ii) What is Green Revolution ? Explain the nature and recent

developments in Green Revolution.

2. Answer the following questions in 500 words (any one) : [20]

(i) Explain the role of Co-operative Banks in Agricultural Credit

System.

(i1) Describe the problems of Agricultural Marketing in India.

3. Answer the following questions in 250 words each (any two) : [20]

(i)  Evaluate the progress of Indian Agriculture during the period

of Five Year Plans.

P.T.O.



(ii) Describe the food security situation in India.

(iit) What is Agricultural Management ? State the recent trends

in the Agricultural Management.

(iv) Compare the prices of Agricultural Goods and Industrial Goods

in India.

4, Write short notes on (any four) : [20]
(i)  Sources of Irrigation
(i1) Scope of Biotechnology
(iizt) Unorganised Credit System
(iv) Types of Agricultural Marketing
(v)  Self-help Group

(vi) Problems of Agricultural Management.

(WS ®aia)
d9% : o9 a™ R CUNEREC

e :— (j) T WA SAeRIR 3R
(ii) ISElhele ok YO O SRiferr.
(iii) WeUEEdl He3 TUSH UEUfehl UgrEl.

1. Woe WAE S® 500 I Rl (FUERl W) [20]
(() 9WE Il Scehdl hHl SAHUIE] ROl MU SYE TS H.

(ii) BE HAl WS & ? A FHidE @WEY 30 AfGhe=al hIAds
GURUT T .
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2. WOlo WA IW 500 I®A ol (FUART W) [20]

(i) e Taaedie (WeeRl Sl o e T

(i) YGOde  3due fawioueaEdie gaen forre .

3. UWolo WA SW YR 250 I TRl (el 9F) [20]

(i) UFeItR ASH F@die WRAE  Ide WdE JodHdd .

(i) YRddie ‘eTgeaEr IRfed’ feme .

(1i7) I TEOEAIH WS hF 2 3l TS STfohesl hidds
EERIESILIS
(lv) YRA® Iqqe ofor oienfes W aren fead=i qod &

4, geHEd dw fog (SR 9r) [20]
() ofgear 9nt

(ii)  SleduETE ST

(iii) STHESd  TdeHerEel
(lv) U ToRETEIT YR

(v) TEIGEHA T

(vi) Il STEEATYATAT THE.
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[3804]-104
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-104 : Indian Economic Policy)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt Al questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(i)  State the nature of unemployment in Indian Economy. Critically

evaluate the measures adopted by Government of India to eliminate

unemployment.

(i) Critically examine the Government’s policy towards Public Sector
since 1992.

2. Answer the following questions in 500 words each (any one) : [20]
(i) Explain in detail Money Market and Capital Market Reforms.

(i1) Describe the role of small scale industries in Indian economy

and state the problems faced by small scale industries.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain demographic features of India.
(ii) Comment on the problems associated with privatisation.
(ii1) Evaluate the Social Infrastructural Development.
(iv) What are the problems of labour market in India ?
4, Write short notes on (any four) : [20]
(i)  Rural-Urban migration.
(i1) Problems related with Agricultural Marketing in India.
(iit) Energy problems in India.
(iv) Growth and Pattern of Industrialization.
(v) Nature of poverty in India.
(vi) Liberalization.
(TS ®UI)
d9% : o a™ THOT 0T : 80

o :— (i) §d WA diefau eRds R
(ii) ISElhele 3 YO U SRiferr.

(fii) SW THAI 9 HLHS STHME.

(lv) TEIEE Yoo TUSH WEUAHT g,

1. T WARN SW YR 500 I®W fedl (FUae Th) [20]

(2)

(i1)
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IRAE  TITeRINe ISTRE &Y 9. sSFIRI Al o]
IRd WA deocdl fafay U™ Saicds Joadma .

1992 AR HESHE STHE = ITEATAT SROMS SrehlcHeh  II&Tol
.




Toe WAl SW U 500 IRM fow (FOEE W) [20]

(i) FUENR ST Wiede dNR YUROT HiowRau T S

(i) NG SfHaEddie FZEArTl et TR Y. T[N SSaau=a1
ST |

GG Gl S YRl 250 IE Rl (FIUdel 9F) [20]

() YA OhEEdEl dRTSRl TR R

(i) TSROl Haftd HHSER 9T .

({ii) WHISh T fowMe eaHde . .

(lv) YA YU 99 g 3ed 2

deqa feor fogr (FveEmd =m) [20]
() UHU-IEN T

(i) YR FOESRESYAS  THE.

(i) YRARS 3ol THE.
(jv) SN a©@ a SThfae.
(v) YRAde <G W&y

(vi) ERIHLO.
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[3804]-105
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-105 : Labour Economics)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (1) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to-the-point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the nature, scope and importance of labour

economics.

(i) Critically examine the Marginal Productivity Theory of
Wages.

2. Answer any one of the following questions in 500 words : [20]
(i)  State the approaches to labour migration. Explain the effects

of labour migration.

(i1) Explain the growth, structure and achievement of labour union

in India.

3. Answer the following questions in 250 words each (any two) :[20]

(i) Explain the exit policy of labour.

P.T.O.



(zz) What are the causes of low labour turnover in India ?
(zi11) State the recommendation of Second National Commission on
labour.

(iv) Explain the rural sector wage determination.

4, Write short notes (any four) : [20]
(i)  Tripartism
(i) Minimum wage
(iti) Peculiarities of labour
(iv) Safety nets
(v) Urban sector wage determination

(vi) Collective bargaining.

(AUE ®UI)
q% : o\ A TR T : 80
I :— (i) §d WA Hre
(i) ISEhele 3 qul IO <Fifaar.

({ii) JW THHI 9 HLHS SAHE.

1. TSRl HIVEREN Tk W™ SR 500 e[ foer [20]
(1) 9| AWM WEY, AW 9 Heed T Hl.

(ii) dAdT HHd Sdeshdl fHgidre SiekTcHes Uietur k.

2. UoGUR FHUERI Tk TWAE SR 500 =@ fowr e [20]
(i) AfHEr= WU TRGHE 9. 9he Woaad 9k TR &6

o N

(i) YRAI® SR GueArn 9™, @ 9 Sl T S
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3. W WAE W 250 | SW fow (FRUeE gF) [20]
(i) HIRE AT g9R ' w6

(ii) YRAIe e IoRG HHl THUANET HhRO HIOCE 2

({i)) TEA TS 98 AErT= RTeRsft @

(jv) THT &die ddq HREd T w5

4. dieE@ du fowr (FO0E WX [20]
() =@ o
Gi) feum ddq
(i) =l ARSI
(jv) Y& e
(v) T &Edle 9qd AR
(vi) |HfEH R
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[3804]-106
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-106 : Cooperation—Theory and Practice)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt Al questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Discuss the importance and characteristics of Cooperation.

(ii) Explain in detail the provisions of Maharashtra Cooperative
Act, 1960.

2. Answer any one of the following questions in 500 words : [20]

(i) What is Audit System ? Explain in detail the objectives of
Cooperative audit system.

(i) Critically examine the role played by International Cooperative

Alliance in the development of Cooperative Movement.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the history and growth of Cooperative Movement in
India.

P.T.O.



(i1) Explain the role of ‘Regional Rural Banks’ in Rural Credit.

(iiz) Examine the role of Cooperatives in the development of

Japan.

(iv) Explain the features of Cooperative Act, 1904.

4, Write short notes on (any four) : [20]
(i)  Principles of Cooperation
(it) Need of Cooperative Training
(ii1) Functions of Cooperative Auditor
(iv) Problems of Cooperative Sugar Industry in Maharashtra
(v)  Progress of Urban Cooperative Banks in Maharashtra

(vi) Need of Cooperative Supervision.

(WS ®aial)
d9% : o a™ TeRuT ot @ 80

e :— () T WA SAeRIR 3R
(ii) ISElhele 3k YO U SRiferr.

(fii) SW THRI 9 HLHS STEME.

(lv) TEIEIE Yoo TUSH WEU(AhT g,

1. UTOoUh HUERI Tk W™ SW 500 I foer [20]
(1) TEHN™ Ue omfor afitses=n ==l AL

(i) 1960 <A FENIE HWEHRI HECHNMG Wal WO TR H.
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2. WOOUR! HUEE Wk WA W 500 I=E foR [20]

(1) E YU Ygdl WU hid ? UEhRl oWl YU g 331 Aiawi
e H.

(i) TERN Todc=N TIhamHis AR bl Ti=al HeEsr=
gk SrehTcsh  TI&01 hAL

3. T WAl Tl 250 IS SW fow (g @) [20]

(i) YR HehRl Feodesrdl Tfae™ Ul ggi T .
(i) UTHO qAQESAdie (ORI UM ot ofier T &

(iii) <a=a fowmmdie Tearl Seren ffsd Them o

(jv) TeRN HES, 1904 = IR T FHA

4, g HEd dw fog (SR 9r) [20]

(i) TEHNET qo™
(ii) UeHR YRTHUTET TR
(iii) TEHhR oWl YAl w1

(lv) WENINAI® HhRl WER I GHE

(v) TERIRMG TR GehRl Shrel Wl

(vi) WEHT TIAILIUMET STl
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[3804]-107
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-107 : Mathematical Economics)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt Al questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

(v) Use of non-programmable calculator is allowed.

1. Answer the following questions (any one) : [20]

(z) Given the matrix

¢l 4 20
X=%1 2 1Y
é u,
gl 3 2§
show that :
-1 _
XX+ = I3

P.T.O.



(zz) Given the demand function of two commodities as :

400

= 2000 + - 50 P
Q1 P, +3 2
500
= 92000 - 100P, +
Q2 2P +4

(¢) Find the nature of commodity.

(b) Calculate the four partial elasticities of demand at

P1=5andP2=1.

2. Answer the following questions (any one) : [20]

(i) A firm faces the production function Q = 12 K04 104 and
can buy the inputs K and L at prices per unit of Rs. 40
and 5 respectively. If it has a budget of Rs. 800 what combination
of K and L should it use in order to produce the maximum

possible output ?
(i) A firm operates with the total cost (TC) function,
TC = 50 + 0.4¢2
and is a monopoly facing a demand schedule
P = 360 — 2.1q.

What will happen to the equilibrium values if the following

different forms of tax were imposed on the firm ?
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3. Answer the following questions (any two) : [20]

(2) Evaluate

‘ dx
O x (x"+1)°

(ii) A monopoly firm faces the demand schedule
P = 460 - 2¢q

and the cost schedule TC = 20 + 0.5¢2. How much should
it sell to maximise profit and what will maximum profit be ?

(All costs and prices are in Rupees).
(iii) Derive the inverse matrix A~! when

€25 15u

A = X ,
€10 8s¥-

(iv) A profit making company wants to launch a new product. It
observes that the fixed cost of the new product is Rs. 35,000
and the variable cost per unit is Rs. 500. The revenue function

for the sale of ‘4’ units is given by :
5000 x — 100 x?

Find :

(a) Profit function

(b) Break-even values

(¢) The values of ‘4’ that results in a loss.

[3804]-107 3 P.T.O.



4, Answer the following questions (any four) : [20]

(z) Evaluate :

4 3 10
IE|=|7 0 3
12 2 5

(i) A firm has to pay fixed costs of Rs. 1500 + 60 Q, how much
can it produce for a budget of Rs. 4,800 ?

(iiz) A firm’s manufacturing system requires two processes for each

unit produced process involves a TC function as,
TCp, = 650 + 15Q

and process involves for B, a TC function,
TCy = 220 + 45Q.

What is the composite total cost function ?

(v) If

MR = 520 — 3402,

what is the corresponding TR function ?

(v) How much interest will be earned on Rs. 400 invested for

two years at 0.5% ?

(vi) Evaluate

2"

9 Q90 ¢,

2
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[3804]-108
M.A. (Part I) (First Semester) EXAMINATION, 2010
ECONOMICS
(EC-108 : Demography)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt Al questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i)  State and explain the various components of population growth

and their interdependence.

(ii) State the concept of quality of population and explain the factors
affecting the quality of population.

2. Answer any one of the following questions in 500 words : [20]
(i) Explain the growth of population in developed countries.

(ii) Examine the population trends in recent years in India.

3. Answer the following questions in 250 words each (any two) : [20]
(i)  Critically examine the Malthus’ Theory of Population.

(i) Critically examine the Optimum Theory of Population.

P.T.O.



(iiz) State and explain the policy regarding nutrition, education and

training in India.

(iv) State the population explosion in World.

4, Write short notes on (any four) : [20]
(i) Meaning and importance of Demography
(ii) Infant mortality
(ii1) Health Policy in India
(iv) Women empowerment
(v)  Growth of population in developing countries

(vi) Gender equality ratio.

(W& T UIR)
d9% : o a™ THUT 0T ;80
T :— (i) §d T diefau eRds R
(i) SvdihEls 3w WAE qu U i

({ii) JW THA! 9 HLHS TEME[.

(lv) TEIEIE Yoo TUSH WEUAHT TR,

1. Uoeus FUER Teh W™ S® 500 Iee[ fodl [20]

(i) RdE Jgra fafay sew WH AN WEREG P W H.

(i) DU TUEA § HHedd WEM S Sehdeie TuereR gRom

M Th T H.
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2. WOOUR! HUEE Wk WA W 500 I=E foR [20]
(i) fowfaa @e dwEen ga TR H

(i) YRAG SRl AfGhele oo Tgue TReu  H.

3. oo WAl T 250 I SW fow (g @) [20]
(G) HoIT ‘Onued g’ dhicAsh Uilequr &L
(i) DRI ‘v fagrar’S JehicAsh 9flequr .

({ii) YRAIdIG SeeTal v oTeR, freror offor wfimetor €gRer 9 9 s
h .

(jv) NG SREEA YEhRIE T

4, geHEd dw fog (SR 9r) [20]

() omTen  ImerEn g enfor Hee
(11) WYY
(i) Yo 3T R0

(iv) THEA HABIHI
(v) forawfle A SwdEn Jal
(vi) Tom TORR FEEL
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[3804]-201
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-201 : Micro-Economic Analysis-II)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to-the-point.

1. Answer any one of the following questions in 500 words : [20]

(1) Explain the main features of perfect competition and state

how firm attained short-run equilibrium under perfect
competition.

(2)  Critically examine kinked demand curve in oligopoly.

2. Answer any one of the following questions in 500 words : [20]
(1) Explain the features of monopolistic competition. How is price
and output determined under monopolistic competition ?
(2) Critically examine Marginal Productivity Theory of
Distribution.

P.T.O.



3. Answer the following questions in 250 words each (any two) :[20]
(1) Explain the Cournot’s model of oligopoly.
(2) Explain the dynamic theory of profit.
(3) Explain Williamson’s managerial model of the firm.

(4) State and explain Pigou’s theory of Welfare Economics.

4, Write short notes on (any four) : [20]
(1) Collective bargaining.
(2) Conditions of Pareto optimality
(3)  Duopoly
(4) Regulation of monopoly
(5)  Price discrimination.

(6) Baumol’s sales revenue maximization

(AUE ®UI)
q% : o\ A THU T : 80
I :— (i) §d WA Hree
(i) ISEhele 3 qul IO <Fifaar.

({ii) JW THHI 9 HLHS SAHE.

1. UToodR HUEE  TE WA9 500 IR S few [20]
(1) Yo S Joooh ARTR TIE A T YU WG SRR SAURIGH
qAdle el Wigd Hw o 9L

o o

(2) 9 fIhdafURIdie SehgR HEU dehie Sihlcesh  IR& .
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2. WoOOUH FUER @ WH TN SR 500 IR@ fod [20]
(1) ToHegsR i dfiteg 9. gwcRge Wdd fefad 9 3acd
ff=dt wzft da ?

(2) faveHr dHE SdRedl f9gide Sehicash OR&Iu K.

3. WOGUR! YR 250 I SN Rl (FUET QE) [20]

(o o o o

(1) ‘Spiic’™ Ieufashdasie JfadaM TI52 .

(2) AR oA fEg| TR &
(3) TooaTe e HauHEEe FARAThE JaaE T H.
(4) Ton e seRmETer 9§ 9 a9 TR &

4. gieRE da foR (FUE wR) [20]
(1) wHfesd HeRTRT
(2) WEEA e SR
(3) fefasharferer
(4) THRGERE FEE
(5) HAN

S

(6) WU foshl-UTet HETHIHRIO Yfqym.
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-202
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-202 : Indian Public Finance)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to-the-point.

1. Answer any one of the following questions in 500 words : [20]
(1) Explain the economic classification of budget.

(2) Explain the trends in expenditure of State Government since

1991.

2. Answer any one of the following questions in 500 words : [20]

(1) What is fiscal policy ? Explain in detail the objectives of India’s
fiscal policy.

(2) Explain the interdependence of monetary and fiscal policies

in India.

3. Answer the following questions in 250 words each (any two) : [20]
(1) “Burden of public debt on Indian economy is increasing.” Comment.
(2)  Critically examine the recommendations of Twelfth Finance

Commission.
P.T.O.



(3) State and explain the principles of federal finance in

India.

(4) Explain the provisions of transfer of resources from union to

states.

4, Write short notes on (any four) : [20]
(1) Presentation of budget
(2) Reforms in direct taxes
(3) Automatic stabilizers
(4) Indicators of Indian fiscal imbalance
(5)  Deficit financing

(6) Centre-State conflicts on finance.

(AOE ®UI)

q% : o\ A TR T : 80
o :— () Wd WA Gefa0 smeEds oR.
(i) ISEhele 3k qul O <SFifaar.

({ii) SW THRI 9 HeHs STHE(.

(jv) USHIHE Hed TS WU oM.

1. UTOOUwh HUAR Teh W™ S 500 IE@ foRl [20]
(1) ocNYTe e aifiehio T .

(2) 199170 @G T WHRAT THEde Il I .
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2. TR HUAR Uk WAL SR 500 IeE@ fow [20]
(1) TSIfoitg €0 WUl i ? HRAr=AT Tsafod aRom= 3fese faegau
e R
(2) YNAie dodguds d TsAfadd € Y [WEREedd T
h .
3. UWoe WAM U 250 IRM SWfodl (FU0E @) e [20]
(1) "9 sfeale dEse el IR ded SR’ 9= .
(2) e foa smEmmen Rremei fokrds aRemr &
(3) YRAie FEed foquumeEl 9 W 9 TR
(4) “hghgd USAhS BEARd SO WEA=A el fawEl ==l s
4, geFE A9 few (RUEE WR) [20]
(1) SIS TR
(2) YIH HUAIS GUR
(3) wETda et
(4) O foxa srEdes fdzm
(5) qeren st
(6) hs-Ued faxia e



Total No. of Questions—4] [Total No. of Printed Pages—3
[3804]-203
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-203 : Indian Agricultural Problems and Policies)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Review the recent Indian Agricultural Labour Policy.

(ii) Discuss the EXIM policy of 2004 to 2009.

2. Answer any one of the following questions in 500 words : [20]

(i)  Discuss the problems of agricultural labour in India.

(ii) Explain the agricultural problems in Maharashtra State.

3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain recent SEZ policy in India.

(i) Explain the causes of low efficiency of agricultural labour in
India.

P.T.O.



(i) Explain the problems of agricultural exports in India.

(iv) Explain the impact of mechanization on agricultural labour in

India.

4, Write short notes on (any four) : [20]
(i) Employment Guarantee Scheme
(1) W.T.O. and Indian agriculture
(itzi) Efficiency of service sector in relation to agriculture
(iv) Agricultural policy of Maharashtra
(v) Recent changes in fruits export policy

(vi) Agricultural subsidies.

(WS ®aial)
d9% : o a™ TeRuT ot @ 80

M :— () T WA SAeRIR  3TRA.
(ii) ISElhele 3 YO O SRiferr.

({ii) SW THA! 9 HLHS THME[.

(lv) TEIEE Yoo TUSH WEUAHT TR,

1. UToous FUAR Tk W™ S® 500 Iee[ fodl [20]
(i) HAlohele WNGE  IIGAS ROl SATeren S
(ii) fHafa-sTam 9RO 2004-2009 = == HA
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2. WOOUR! HUAE Uew WAE SW 500 IRM fe@ [20]

(i) YRAGG  IIOESE WREET 9= S

(ii) WERE TIMie  Idifaudss THEl T &

3. T WAl Tl 250 IS SW fow (g @) [20]
(i) YRade sifowsie fom s &5 (SEZ) R0 T2 .
(i) YRA® ISl 3ed hEHT HRO TR .

[ o i"'\

(i) YRAdie &Y aid=n g9en e S

M [a

(jv) AARIHETME IRAMG  IAHSUO®  TUMH 6 .

4, geHd oo fogr (R 9w) [20]
(i) USSR BH A
(ji) IMfder YR TEEAT A0 YRAE Il

N0

(iii) 3= Gewldie Tem &=l hrEerHdr

(fv) WA ST R
(v) W IA IRUMS Ifohele .o
(vi) TSR STIM.
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-204
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-204 : Industrial Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt Al questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the role of public sector in Indian economy. What are
its problems ?

(z1) Give a brief account of industrial imbalance in India. What
are its causes ?

2. Answer any one of the following questions in 500 words : [20]
(i) Discuss in detail the factors affecting industrial productivity.

(i) Discuss the need of foreign capital in Indian economy. Comment
on government’s policy towards foreign capital since 1991.

3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain the broad features of Industrial Policy of 1956.

(i1) Evaluate the advantages of MNCs in Indian economy.

P.T.O.



(iiz) Explain ‘Sargent Florence’ theory of Industrial Location.

(iv) Explain the problems of external commercial borrowings.

4, Write short notes on (any four) : [20]
(i) Scope of Industrial Economics
(ii) Type of Industrial Combination
(ii1) Tools of productivity
(iv) Role of public Sector Banks in Industrial Finance
(v) Broad features of Industrial Policy 1991

(vi) Agglomeration and deglomeration.

(RS BUia?)
d9% : o a™ THUT 0T ;80
ol :— (i) 98 WA Hredn
(ii) ISElhele 3k YO U SRiferr.

({ii) SW THA! 9 HLHS TEME[.

(lv) TEIEIE Yoo TUSH WEUAHT TR,

1. U YRl Ty SR 500 I fowr : [20]

(i) 9N SdFEddle WESe &erel i T wl. e GHE

SIS 3TMed ?

(i) YRddie STieifiehr THHdIel dieRd @l ol <l ol hIvd]
Aed ?
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2.

TOG Ykl Werrd SW 500 3Ied fodl [20]
(G) SicfTer Sdeshder oM IO SehEl WiOkR ==l R

(i) YR SfFaEmfic WHE Weders e 99 . 1991 IRH
Wkl Wieael HoHi TR HReR 9 &

oG FART GOk 250 IEM SWfed (FvE g ) [20]
(1) 1956 = ST HRUMET ook dfRTed TR H.
(i) YR AdFTEde T|URE HUAA HECH G0 h.

(i) ‘HWSie Yo' g Siefier wenfeteRtumen fagia T &L

(jv) THT AR el IHUNOT=N TAL TS .

Jrea dl fogl (RUER |r) [20]
(i) olicaifier  steRmeT= =
(ii) AT FIFARWOTE  YHR

(1ii) SACHdl et HeH

(jv) iR fod REcAdie TESe e saidl e

(v) 1991 =1 ScAfTh YNUM=N Sk TS

o Ne

(vi) STINTEEATET whishHu & foefghom=l Ja.
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-205
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-205 : Rural Development)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt Al questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i)  What is Rural Development ? Explain V.M. Dandekar’s approach
of rural development. What are its drawbacks ?

(ii) Explain the nature and scope of rural indebtedness in India.
Evaluate the role of self help group in eliminating rural
indebtedness in India.

2. Answer any one of the following questions in 500 words : [20]

(i)  Discuss the role of irrigation, rural electrification and rural
transport in rural development.

(i1) Assess the role of Employment Guarantee Scheme and Training
Rural Youth for Self-Employment in rural development.

3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain the scope and importance of rural development.

(zz) Comment on achievements of Green Revolution in India.

P.T.O.



(itzi) Examine the role of rural industrialisation in eliminating rural

unemployment in India.

(iv) Give a brief outline of Tribal Development Programme in India.

4, Write short notes on (any four) : [20]
(i)  Structure of Rural Economy in India
(i1) Agricultural growth in India since 1991
(iizr) Agrarian Reforms and Rural Development
(iv) Causes of Rural Unemployment in India
(v) Marginal Farmers Development Agency (MFDA)

(vi) National Rural Employment Guarantee Programme.

(RIS TTeR)
9% : o9 a™ THUT 0T ;80
ol :— (i) 98 W3 Hredn
(ii) ISlhele 3k YOl U SRiferr.

({ii) SW THA! 9 HLHS TEME[.

(lv) TEIEIE Yoo TUSH WU TR,

1. T YRl T SR 500 3@ fowr [20]

(i) U foew BvN wE 2 fa. 9. Tew A i o gRis
TR HY A GRIGMEE QY RO TR ?

(ii) YRAS YT HSSIIAUS WEY o AW 6 hll. WRAdS TH
%Sl SSIRIYUT HH H0ANE SIERAA e fehd T .
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2. WEG WA U@ S® 500 I foer [20]
(i) Sotgad, T e onfr UHY dege SeRen A= A

AN AY g

foshEIdie  YfHeh=l ==l .

(i) TSR g A ((EGS) o7for 2=@™ (TRYSEM) A= Ui fashrardies

~

Jfeh= HeIHTT .

3. oo WAl Tl 250 I SW fow (g @F) [20]

(1) U foeRmErEl SATwt MUl Heed T R

(ii) YRAdie 3d Hid=n ®wodeR 9T .

(iii) YRAE THU G’ HH H0ARE  AH SRR e
q{e  h.

(jv) YRAdie STfcarl faem@ ASHMET AOieRnd  Aeel =l

4., dieH[ W fowl (RUERl WR) [20]
(i) YRAMie THO STefeqeed=l ol
(i) 1991 URAl YRAM®  Irhasret gal
(iii) 3t RO effor uror foekrd
(jv) YRAIE MO SISTIRIST  shR)
(v) G IRl faewE wEm (MFDA)
(vi) TR U JSFR H Ao
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Total No. of Questions—4] [Total No. of Printed Pages—2

[3804]-206
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-206 : Computer Application in Economic Analysis)
(2008 PATTERN)
Time : 2% Hours Maximum Marks : 60
N.B. :— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to-the-point.

1. Attempt any one of the following : [15]

(1) What is internet ? How can you use internet for online shopping ?

Explain the advantages and disadvantages of online shopping.
(2) What is electronic trading ? Explain different steps of trade

cycle.

2. Attempt any one of the following (A or B) :

(A) (1) Explain B2B model with suitable example. [8]
(2) Explain the uses of Internet. [7]
Or

(B) (1) What is network ? Explain the application of network. [8]

(2) What is operating system ? Explain the features provided

by windows XP. [7]
P.T.O.



3. Attempt any three of the following : [15]
(1) What is the difference among hardware, software and firmware ?
(2) Explain any two network topologies.
(3) Explain with suitable example the following MS-Excel function :
(1) sum
@) if
(4) What is printer, plotters and scanner ?

(5) Explain how digital signature provides security.

4, Attempt any three of the following : [15]
(1) Explain different types of menu in Windows XP.
(2) List the different techniques used for authentication.
(3) What are the applications of B2C model ?
(4) Define :
(1) Cell
(i1) Formula cell
(iit) Range of cell
(iv) Address of cell
(v) Formatting of cell in MS-Excel.
(5) Explain the advantages of CD ROM over hard disk and floppy
disk.
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Total No. of Questions—4] [Total No. of Printed Pages—4+1

[3804]-207
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-207 : Statistical Techniques)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Use of non-programmable calculator is allowed.

1. Attempt any one out of two : [20]
(1) Construct a frequency table for the following data regarding
annual profits (Rs. in lakhs) in 50 firms, taking 25-34,
35—-44 etc as class intervals. Construct a less than ogive and

find :

(i) Number of firms having profit between 37 lakhs and
Rs. 58 lakhs.

(i) Profit above which 10% of the firms will have there profits.
(iiz) Middle 50% profit group :

28 3 61 29 36 48 57 67 69 50

48 40 47 42 41 37 51 62 63 33

31 32 3 40 38 37 60 51 54 56

37 46 42 38 61 59 58 4 39 57

38 4 45 45 47 38 44 47 47 o4
P.T.O.



(2) Find the proportion of items lying within :
(1) Mean +s and
(i) Mean

of the following distribution :

Class Frequency
11—12 05
13—14 426
15—16 720
17—18 741
19—20 665
21—22 395
23—24 38
25—26 08
27—28 05
29—30 07
2. Attempt any one out of the two : [20]

(1) The mean and variance of a binomial distribution are 3 and
2 respectively. Find the probability that the variate takes
values :

(i) Less than or equal to two

(ii) Greater than or equal to 7.
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(2) Compute the quadratic trend of the form :

y=a+bx + cx?

for the data showing the production of an item over a seven

year period :

Year Production (in 1000 tons)
1985 10

1986 11

1987 12

1988 09

1989 10

1990 13

1991 11

3. Attempt any two of the following four : [20]
(1) Calculate the coefficient of correlation for the ages of husbands
and wives :
Ages of Husbands Ages of Wives

23 18

27 22

28 23

29 24

30 25

31 26

33 28

35 29

36 30

39 32
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(2)

3)

(4)

[3804]-207

The research unit in an organisation wishes to determine whether
scores on the scholastic aptitude test are different for male
and female applicants. Random samples of applicants file are

taken and summarized as below :

Applicants
Female Male
X = 5021 X = 5105
S.D. = 86.2 S.D. = 904
n = 399 n = 204

Using the above sample data test the null hypothesis that
the average score is the same for population of male and
female applicants. Use 5% significance level and assume that
the scores are normally distributed in each case.

In a city, 325 men out of 600 men were found to be smokers.
Does this information supports the conclusion that the
majority of men in this city are smokers ? (State the hypothesis
clearly and test it at 5% and 1% level of significance)
Comment.

The mean life of a sample of 10 electric bulbs was found
to be 1456 hours with a standard deviation of 423 hours. A
second sample of 17 bulbs chosen from a different batch showed
a mean life of 1280 hours with standard deviation 398 hours.

Is there a significant difference between mean lives of the

two batches of bulbs ?
4



(1)

(2)

(3)

(4)
(5)

(6)

[3804]-207

Attempt any four out of the six : [20]

Discuss the large sample test for testing the equality of two
population means.

Explain the difference between statistic and parameter as used
in sampling survey.

Cost of living index numbers is essentially a consumer price
index. Discuss.

Write merits and demerits of arithmetic mean.

What is meant by time series analysis ? Discuss its importance
in business.

In a single throw with two unbiased dice find the probability
of throwing :

(i) Five

(i) Eight.



Total No. of Questions—4] [Total No. of Printed Pages—3
[3804]-208
M.A. (Part I) (Second Semester) EXAMINATION, 2010
ECONOMICS
(EC-208 : Community Development and Planning)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iiz) Answers should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]
(1) Elaborate the Schumpeterian theory of underdevelopment.

(2) State and explain the interdependence of Social Development

and Environment.

2. Answer the following questions in 500 words each (any one) :[20]
(1) Explain in detail the India’s population policy.

(2) What is Social Planning ? Explain the need of social planning.

3. Answer the following questions in 250 words each (any two) : [20]
(1) Explain the Marxian theory of social development.

(2) Explain the foundations of social theory.

P.T.O.



(3)

Discuss the international population policy.

(4) Explain the concept of social development in terms of
redistribution of income and basic human needs.
4, Write short notes on (any four) : [20]
(1) Social Capital
(2)  Social Invesment and Economic Growth
(3) Planning and Aid
(4)  Social Planning
(5)  Collective Behaviour Theory
(6) Guided Development.
(TS TUI)
d% : dF a™ THOT 0T : 80

M :— (1) Td WA SAEIS SR

(i) SVEhE® e U O it

({ii) SW THA! 9 HLHS TEE[.

(lv) TEIEES Yoo TUSH YLAUCIRT URTEl.

1. Uoe Yl G 500 ¥R SW foel (SR W) [20]
(1) IER amn STedfasmmEl faga faee .
(2) umtSes fasm 2nfor aferur I=ANe WeREsed 9l § T .
2. W@ WAET Y&H 500 VKM SW @Rl (FOER! Tah) [20]
(1) 9IRdA SFIEANITIS: R0 GiaaR T2 FH.
(2) GmHifsieh eE W wE ? g FHEeEEl TR TR 6.
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3. Wdo T Yk 250 v SWfoRl (FUhE dF) [20]
(1) W amfse foe@mn faga s #:3.
(2) wHtee fagiae R fave &3
(3) SR SIhUEauds: HRom= == &
(4) S qAated T He3yd Aal TS a1 TSHId | oo Hehad T
e .
4. feour fom (PR WR) [20]
(1) IS Jeao
(2) WIS Taeues oTfur offYe gl
(3) fHaSH smfur wed
(4) gmSe HESE
(5) EHfesk aren fHgid
(6) Tdeiia faemma.



Total No. of Questions—4] [Total No. of Printed Pages—3

Time :

N.B.

[3804]-301
M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS
(EC-301 : Macro Economic Analysis-I)
(2008 PATTERN)

Three Hours Maximum Marks : 80
:— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]

(1) What is circular flow of income ? Explain with diagrams various
withdrawals and injections in the circular flow of income.

(2) What is marginal efficiency of capital ? Explain short-run and
long-run factors affecting marginal efficiency of capital.

Answer any one of the following questions in 500 words : [20]

(1) Explain critically the Permanent Income Hypothesis in consump-
tion.

(2)  What is meant by supply of money ? Explain fully the components
of supply of money.

Answer any two of the following questions in 250 words each : [20]
(1) Explain various concepts of National Income.

(2) Explain the types of consumption function.
P.T.O.



(3) Explain the working of accelerator.

(4) Explain the determinants of High Powered Money.

4, Write short notes on (any four) : [20]
(1) Friedman’s theory of demand for money
(2) R.B.I’s approach of money supply
(3) Relative Income Hypothesis
(4) Circular flow of income in two sector economy
(5) Money multiplier

(6) Implications of Keynes’ consumption.

(W& T UIR)
9% : o a™ THUT 0T ;80
ol :— () |d YA Hredn
(i) SoEiwel® % qu O eifer.

({ii) JW THRI 9 YT M.

(iv) SAFFI®R dY Gak AThdl kGl

(v) URHMEE T TUSH UFAdAeh] UTE.

1. TOOYR HUARE TR WA SW 500 3Iead fowr [20]

(1) 3= IRl Ja8 FRUS 6 ? ==l Fehlh RIS
fafay geriEl Tesdl o019 SATRd=n WM TR

(2) vedorl faud wEgad ®RUS w2 Jiedorsl o wideamder
RO HOM 3TeTehior  oTful e g2 T .
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2. UOGUh! PR Tl WA SW 500 I o [20]

(1) 3SUYdie el 3= Tiedere T .

(2) W= qEa BN &M@ ? R/ [Eed™ Ueeh AfawR TR

8. WOGURl HUAE e G SW YR 250 3T fowl [20]

(1) UL Ig-ren fafay Geheq T2 &

(2) UGN o™ YRR TS .

(3) Y=l hIIYgdl T h

(4) = I W fruie T &

4, deHEd fow fogr (R =9r) [20]
(1) fresgT=n Tmen grmi=n fagia

~ ¢ =

(2) TN WaSHfawiEr 9RdE fgd dher g

(3) WU I UReed (Tfedw)

(4) Tg-afm IdeoEddic ST IhihR Jdg

(5) & TR
(6) ST YN FoAE A9
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Total No. of Questions—4] [Total No. of Printed Pages—3
[3804]-302
M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS
(EC-302 : Economics of Growth)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) What is economic growth ? Explain the factors affecting on
economic growth.

(2)  Critically evaluate the Malthusian theory of economic growth.

2. Answer any one of the following questions in 500 words : [20]
(1) Critically evaluate the Kaldor’s model of Distribution.

(2) Examine growth model of the golden rule of accumulation.

3. Answer the following questions in 250 words each (any two) : [20]

(1) Evaluate the contribution of Schumpeter in the development of
capitalist economy.

(2) Explain the theory of social change.

P.T.O.



(3) Evaluate Mrs. Joan Robinson’s growth model.

(4) Explain the role of money in economic growth.

4, Write short notes in 100 words each (any four) : [20]
(1) Impact of market imperfection on economic growth
(2) Technology and economic growth
(3) Embodied technical progress
(4) Capital controversy
(5) Patinkin model on endogeneous growth

(6) Intellectual capital.

(WS wUiav)
9% : o9 a™ THOT 0T : 80
T :— () | 93T e
(i) SRS siw YU M gEifadm.
(iii) 3TeRTh dY Gosh 3k hlal

(lv) WIS Yoz TUSH WU TErEl.

1. T WAEN W Y@@ 500 I3[ fowl (FUER W) [20]
(1) offdfes oI5l =S & ? offdfe Jgier IRumM o) sesh T
.

(2) HoUE Ir= Awk oo Togiae JdicAe YoIHaT

2. Wo® WAE SW YR 500 I fowl (ORI WeR) [20]

(1) weer = faursHrE= gfaaHN fodhicas e .

(2) HoIre YAUgTEN g@ UaHHe S0 .
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3. Wdo Tl IW YS!l 250 I fowl (RUGRT BF) [20]

(1) HreaeTEl Adaed=n foamde [rel ar=a ANRHEY JodH i
.

(2) wMEIfSe deorE faga T .

(3) simct SM Ufa=d A= gal gfaaHe e &

(4) o geide W yffe s .

4, WS IAqM YR 100 I fow (IR AR) [20]
(1) 9NN Aquider aAfds Jaladie aRum
(2) TAIH oTfor emfde FEl

(3) TAIHIH Wl

(4) edo fotenas

(5) defhd AN WA gaia UadH

6) difges wede.
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[3804]-303

M.A. (Part II) (Third Semester) EXAMINATION, 2010

ECONOMICS

(EC-303(A) : Research Methodology)

(2008 PATTERN)
Time : Three Hours

Maximum Marks : 80
N.B. — (1)

Attempt Al questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

Answer any one of the following questions in 500 words

[20]
(2)

Define Research. Explain the nature and utility of research
in social science.

(ii) What is sampling ? Explain the techniques of Sampling.

Answer any one of the following questions in 500 words

[20]
()

Describe fully the stages in report writing.

(i1)

Explain the significance and stages of Research design.

Answer the following questions in 250 words each (any two) : [20]
(@)

Explain the various stages of testing Hypothesis.
(i1)

What are the measures of Central Tendencies ?

P.T.O.



(iit) Explain the process of Interview.

(iv) Explain the importance of graph and diagrams.

4, Write short notes on 100 words each (any four) : [20]
(i) Size of sample
(i1) Dispersion
(iiz) Historical method in research
(iv) Characteristics of a good questionnaire
(v) Use of computer in data processing

(vi) Advantages of case study method.

(WS ®aial)
d9% : o a™ TeRuT ot @ 80

e :— (j) T WA SAeRIR 3R
(ii) ISElhele 3k YO U SRiferr.

({ii) SW THA! 9 HLHS THME[.

(lv) TEIEIE Yoo TUSH WEUAHT TR,

1. TOoUh HUERI Tk W™ SW 500 I foRl [20]
(i) EEIEATE AR WL gESie  IMSde SEieTe WY F TP
T H

(i) =M foe =N & ? TN fee usdEl 9 e &

[3804]-303 2



2. WOOUR! HUME UTw WAH W 500 I=W few [20]
() TEYR ofeare fowmmmren fafgy <o afosad ovH &L

(ii) TEIMYA ARMESID Heed o 20 W R

3. UWOe TAEN YR 250 I3[ SW foe (FukE @F) [20]
(i) TR uReren fafay uEmm TS &

(i) hfsT Yt HSHYS B0 2

(iii) Hored=r frar T .

(jv) oTE 9 AFAE Ted TRL  H.

4, WG TN YR 100 T foR (PR EAR) [20]

(i) THATE AR

(ii) Tor=ed

(iii) EYANe Ufderie 9sd
(jv) SR WAEGE AT

(v) T UfHFAEES TR STAN

(vi) TafiTerome ugd= wrER.
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Total No. of Questions—4]

M.A. (Part II) (Third Semester)

[Total No. of Printed Pages—4

ECONOMICS

EC-303(B) : Econometrics

(2008 PATTERN)

Time : Three Hours

Maximum Marks

N.B. :(— (i) Attempt Al questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(zv) Use of calculator is allowed.

1. Answer any one of the following questions :

[3804]-304

EXAMINATION, 2010

: 80

[20]

(i) The following data were collected from five different plants

in a certain industry :

Production (x)

Total Cost (y)

12

4

6

11

80

44

51

70

61

P.T.O.



(a) Estimate the linear total cost function y=a +bX for

the industry.

(b) What is the economic significance of the estimates of

aand b ?

(¢) Test the significance of b at 5% level of significance, given

(d) Also construct 95% confidence interval for b.
(i1) Consider the following model of demand and supply :
Qi=a1+bP + Y
Qs = ag +boP + coZ

=
=
)
ﬁ
¢
D)
&
I

Quantity demanded; Qg = Quantity supplied
P = price Y = disposable income
Z = cost of major raw material

Y and Z are exogenous variables.

Determine the reduced form of these equations.

2. Answer any one of the following questions : [20]
(i) For the following aggregate model for the economy :
C=a;+agDi+ Uy
I, =b; +byY; + bgY, ;1 + Uy,
Y, =D, +T;
Y, =C; + I, + G,

[3804]-304 2
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The variables C,, D;, I, Y, are endogenous and T, and G,
are exogenous. Comment on the identifiability of the first two

structural equations giving reasons.

(ii) What are dummy variables ? How can they be incorporated
in a regression model ? Also discuss the study of interaction
effect using dummy variables.

3. Answer any fwo of the following questions : [20]

(i) State and explain features of the logit model.

(ii) Write a detailed note on ‘Heteroscedasticity’.

(iiz) Discuss different approaches to economic forecasting.

(iv) Explain what is identification of an equation. Explain Rank
and Order conditions of identification of an equation in
simultaneous equations model.

4, Answer any four of the following questions : [20]

(i) State the principle of least squares. How is it used to fit
the equation of the form :

Y= a+ b.X
(i1) Explain hypothesis testing in multiple regression.

3 P.T.O.



(ii7)

(iv)

(v)

(vi)

[3804]-304

State clearly the assumptions of classical linear regression

model.

What is multicollinearity ? What are the sources of

multicollinearity ?

What is an integrated stochastic process ? State properties

of integrated time series ?

In a data of quarterly sale of washing machines how many
dummy variables are required to be incorporated in the model.

How would you interprete their coefficients ?



Total No. of Questions—4] [Total No. of Printed Pages—3
[3804]-305
M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS
(Optional Paper)
(EC-304 : Banking and Financial Institutions)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt Al questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(i) Explain the structutre and functions of the Financial System
in India

(1) Explain the structure and working of Co-operative Banks in
India.

2. Answer any one of the following questions in 500 words : [20]

(2) Evaluate the functions and role of the Industrial Credit and
Investment Corporation of India (ICICI).

(it) Review critically the functions and working of International
Monetary Fund (I.M.F.).

3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain the evolution of State Bank of India.
(ii) Explain the objectives of the Monetary Policy.

P.T.O.



(iit) State the types of Mutual Funds.

(iv) Evaluate the role of Euro-currency markets at the international

level.

4, Write short notes on (any four) : [20]
(i) Functions of Reserve Bank of India

(i1) Functions of the Small Industries Development Bank of India
(SIDBI)

(iit) Foreign Direct Investment (F.D.I.)
(iv) Indicators of Financial Development
(v) Need and objectives of Banking Sector Reforms

(vi) Significance and nature of Non-Banking Financial Institutes
(NBFI).

(RIS TTR)
d9% : o a™ THUT 0T ;80
ol :— (i) |& WA Hredn
(ii) ISlhele 3k YO U SRiferr.

({ii) SW THA! 9 HLHS TEME[.

(lv) TEIEIE Yoo TUSH WEUAHT TR,

1. SHUEE Tk W SN 500 Ie@ fomr [20]

o~

() YRdm fo<ia Yome=i WA 9 AR W5 &L

(i) HRAdIe Hehil Shrat o ST % T &L
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2. USRI Tk T SW 500 IS fodl [20]
(1) ARdE SiEfies 9q Snfi aave Hemee™ (ICICIH) @ a e

HoAHIMA onll.

(i) STRUEE Fmofe=t  (IMF) & 9 SR 9qeed &

3. HUER QBN FA™ SW YIS 250 IS fowr [20]
(j) YR W2 dhdl Ikl T FH.

(i) ToAaude HURUTE! e TR &

(Gii)) TER A geR =@

o fa o o

(jv) JU T INNE AL Taeele [geMde st T
.

4, g M dw fog (SR 9r) [20]

o o

(G) VR @l da=t &

(i) YRdE oY SEm fowm™ dee wE
(iii) fazlt y@g T@ave  (F.D.L)

(v) foxia fowmm

(v) FF G GURUTE TEFTRAl T IfER
(vi) T foia ¥ W@ 9 @WEU

[3804]-305 3
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[3804]-306
M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS
(EC-305 : Welfare Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iiz) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1)  What is utility function ? Explain issues in inter-personal
comparisons of utility.

(2)  What is consumer surplus ? Explain fully Marshallian measure-
ment of consumer surplus.

2. Answer any one of the following questions in 500 words : [20]

(1) What is Pareto optimality ? Explain briefly the conditions of
Pareto optimality.

(2) Explain in detail Samuelson’s utility posibility curve.

3. Answer the following questions in 250 words each (any two) : [20]
(1) Explain the cost benefit analysis.

(2) Explain the problems of public goods.
P.T.O.



(3) What are the external economies and diseconomies of produc-
tion ?

(4) Explain dynamic welfare analysis.

4, Write short notes in 100 words each (any four) : [20]
(1) Issues in income distribution
(2) Pigovian welfare economics
(3) Arrow’s impossibility theorem
(4) Top level optimum
(5) Marginal cost pricing

(6) Hick’s concept of consumer surplus.

(W& T UIR)
q% : o\ A THOT T ;80
T :— () | YT e
(i) SoEhele sfe qui U <Eifad.

({ii) JW THA! 9 HLHS TEME[.

(lv) TS Yoz TUSH WYY TerEl.

1. AR Tk WA 500 S S gl e [20]

(1) SR ®od BN $F 7 ST SIadis JoTdio THel T
.
(2) SUNEAE FAWIHR RN hE 7 SUHRATSA AR ARG 9

S i T &L
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2. HhUAE TWeh WA 500 VI WX fowl e [20]

(1) I TIEdT RIS i ? WAl IRIHT 33 A T
.

(2) HHYISHTA ITANTE IRl oIk Fiokl ¥ee .

3. Wole YEl Y&l 250 I S fowl (RIUemE 9F) [20]

(1) @E oY faveun e &3,

~

(2) wESIE T e fave .

(3) SHRATAT &ed 99dl o da=dl hlueal  ?

(4) RN weane favouu fave &

4. TIHEE 100 V=@ dedd du fow (g em) [20]

(1) SI= faveHEde aue
(2) o= weAmEenit SALeme
(3) 3N SR YHA

(4) J=HAH TEAHCI

(5) Hud T4 feaa ffy=Ed

(6) Toorg=i SUMTAT= GArEeRI=l HehoUHl.
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[3804]-307
M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS
(EC-306 : Economics of Finance)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]
(1) Has SEBI gained a control on the capital market ? Comment.

(2) State and explain the mechanics of future market.

2. Answer the following questions in 500 words each (any one) :[20]
(1) Classify the securities and explain its general characteristics.

(2) Explain in detail the components and working of the stock

market.

3. Answer the following questions in detail with 250 words each (any
two) : [20]

(1) Explain the mechanics of commodity future.

(2) State and explain the financial sector participants.
P.T.O.



(3) Explain various stock indices.

(4) Explain the uses of financial rations and its limitations.

4, Write short notes on (any four) : [20]
(1) Arbitrage
(2) Types of derivatives
(3) Option market
(4) Forms of efficient market hypothesis
(5) Hedgers
(6) Concept of cash flows.

(AOE ®U)
q% : o\ A TEHUT T : 80
T :— () | YT e
(i) SoEele 3w goi U eFifaa.

({ii) SW THA! 9 HLHS TEE[.

(lv) WIS Yoz TUSH WU TErEl.

1. T WA W Y@@ 500 I3[ fodl (FUER W) [20]

(1) ede dRER as0 Sauarg ‘e’ Wl ATl 3R 2 9Ty
.

(2) Hfo=m ST (Future market) I50T G o T &

2. WO® WTAE SW YR 500 I fow (FUERN W) [20]
(1) ufaqd= sffetor &a enfor gfasdi=n SewERe SRy T &

(2) W IS TSk MU I i Gfos T2 .
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3. Wolo WART Y&l 250 I SW ol (Rivdel M) [20]

(1) oK 99K JA7 AR T &

(2) fodg odie 9e9rl 9 o T .
(8) fafw R e T =

(4) fafeg ¥ (Financial rations) = SUIN 9 HIEl TS H.

4., geR@ four fegr (FIOdEl 9r) [20]
(1) gAY
(2) ST UhR
(3) fashew IR
(4) HEEH INR TRIAHE THR
(5)  STerRd

6) U@ YdE HehedHl.
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Time :

N.B.

[3804]-308

M.A. (Part II) (Third Semester) EXAMINATION, 2010
ECONOMICS
(EC-307 : Economics of Environment)

(2008 PATTERN)
Three Hours Maximum Marks : 80
:— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Draw a neat diagram wherever necessary.

Answer any one of the following questions in 500 words : [20]

(1) State the concept of environment. Explain the effects of
environment on human lives.

(2) Explain fully the new model of pollution control.

Answer any one of the following questions in 500 words : [20]

(1) Explain the concept of sustainable development. Explain how
exhaustible resources are obstacles in sustainable development.

(2)  What is pollution ? Explain the instruments used for controlling
water and air pollution in India.

Answer the following questions in 250 words each (any two) : [20]

(1) Discuss various types of renewable resources.

P.T.O.



(2)

Macro-economic policies for environment protection.

(3) Explain the benefits of social forestry.
(4) Distinguish between human capital and physical capital.
4, Write short notes in 100 words each (any four) : [20]
(1) Types of environment
(2)  Externalities of environment
(3) Mechanism for environment regulation
(4) Market policies and environmental degradation
(5) Causes of air pollution
(6) Education and water pollution control.
(WS wUTR)
d9% : o a™ THOT 0T : 80

ol :— (i) |d Yz Hed

(i) SVEhE® 3 U O it

({ii) JW THA! 9 HLHS TEME[.

(iv) SAEI®R dU Gk AHAl hlal.

(v) TEIEE Yoo TUSH YU URTEl.

1. TOOUHR HUCE Tk TR S® 500 v=| foar [20]

(1)

(2)

[3804]-308

qITRUM=l HehedqT M. YHERUNE HFE] Sieqel. BIUR URumH Tt

< .

YUl AU e gfaaE dfasiR T .

2
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2. WOOUh! HUMRI Tk W™ W 500 =M fem [20]
(1) vmead fohrare Hehed T TI5 . IMYad TaehTdTd AeTed aTe ST
HETS HMRd 7 T HL.
(2) UQUU WUS ®E 7 URAM TAl AU o YguU FEEUEE S
IR WA TIEHIO DL
3. Uo YEN SW UIH! 250 VW fewl (ROl 9F) [20]
(1) giessiiod waeEren fafay gt == &
(2) TRV WU HHU ST ROl
(3) WHIN® oA &Y T A
(4) UEEl vEde 9 TEY JEdene 9k
4. g 100 V@ feur fegl (FUERT WR) [20]
(1) YIERUME YehR
(2) THTERUM=T STE
(3) TAERY FEEAEE I=om
(4) NN 4RO A0 THleRe @™
(5) B YgUUTEl sHhOl
(6) Torgu enfor S ygwor fEEOL



Total No. of Questions—4] [Total No. of Printed Pages—3

[3804]-401
M.A. (Part II) (Fourth Semester) EXAMINATION, 2010
ECONOMICS
(EC-401 : Macro-Economic Analysis—II)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Attempt Al questions.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]
(i) Explain the Loanable Fund Theory of Interest.

(i) Explain in detail Baumol’s Inventory Theoretical Approach.

2. Answer any one of the following questions in 500 words : [20]
(i) Explain the Monetarist and Structurist approach of Inflation.

(ii) Explain the meaning, characteristics and stages of Business
cycle.

3. Answer the following questions in detail with 250 words each

(any two) : [20]
(i) Explain the post-Keynesian approach to demand for money.

(ii) Explain the Classical Theory of Interest.

P.T.O.



(ii1) Explain Analysis of Inflation of Samuelson.

(iv) Explain the Hicks approach of Business Cycle.

4, Write short notes on (any four) : [20]
(i)  Goodwin’s model
(ii) Monetary Policy
(ii1) Classical approach to Macro-economics
(iv) Neo-classical view on Interest
(v) Business Cycles’ Theory of Kaldor

(vi) Solow’s approach to theory of Inflation.

(TS wTR)
d9% : o a™ THUT 0T ;80
ol :— () 98 I Hredn
(ii) ISElhele 3k YOl U SRiferr.

(iii) oAeEFgsh A fohmll gah 3F wal.

(lv) TEIEE Yoo TUSH WEUAHhT TR,

1. UooUs AR Teh W™ S® 500 Iee[ fodl [20]

(i) ATl heie-et fagid W &

-~

(i) diFied AGHTEEad Hgifde gfedH = H.
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THGUR! HUARI Wh Y3E SR 500 I foRl [20]

(i) Fod AfMgSIHauEs HIER! 9 TEAER! gRRM T 6.

(ji) AR TeTar e, dfiTsed emfur Sfewem W

oG AR Y&H 250 ITsed Hiael S faRl (St @ F) ;o [20]
(1) HER Wren AvviEn gfewH TR #

~

(ii) SASTE SAAAR] faga W &9

(iii) HgeToRTs Jod Sfigereedd foroan ¥ &

(iv) TeFa=T AR =ehfaos FfehE T 6.

deqa feor fogr (FveEmd =m) [20]

(i) Tefod gfaHH
(ii) TSI HRl
({i) THUGET TR TWRNG geh

(jv) AN AFGEAAAART gt

~

(v) Heel=l FNURTHMET fTg

[l

(vi) d@ F=1 Fod fagel fag@ gfesH.
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[3804]-402

M.A. (Part II) (Fourth Semester) EXAMINATION, 2010
ECONOMICS

(EC-402 : Economics of Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Attempt Al questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

Answer the following questions in 500 words (any one) :

(2)

[20]

What is Dualism ? Critically examine the Higgin’s theory of
Technical Dualism.

(i1)

Explain the term ‘Human Resource Development’. Explain the

forms (ways) and problems of Human Resource Development.

Answer the following questions in 500 words (any one) :

(2)

[20]
“International Trade is an engine of growth.” Comment.

(i1)

Explain in detail the factors determining the efficiency of large

scale production.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]

(i) Explain the external resources for economic development.
(ii) Explain the theory of demographic transition.
(iiz) Explain the importance of Infrastructure development in developing
countries.
(iv) Explain the role of monetary policy in developing countries.
4, Write short notes on 100 words each (any four) : [20]
(i) Role of M.N.C.s in developing countries
(1) Vicious circle of poverty
(itzi) New technology and sustainable agriculture
(iv) Static gains from trade
(v) Balance growth approach
(vi) Arguments for capital intensive techniques of production.
(AUE ®UI)
d9% : o a™ THOT 0T : 80

ol :— () |& I HreEdn
(ii) ISlhele ok YOl U SRiferr.

({ii) SW THA! 9 HLHS TEME[.

1. 9oe WAE S® 500 I fedl (ARl W) [20]

(2)

(i1)

[3804]-402

o n

feeadae BN w1 ? Bl I aite feeodaeer fagam fesras
gR&u .

el 9 foh Hehedql W Y. "l 99yd faeEE wew
(urf) gfee® T= =




2. WOlo WA IR 500 I=M @@ (FOAR W) [20]

2NN M

() AU MR T gEe sheM SR 9T @A

(i) HISH JHUMEOS SR hIIeHdl SUGU= Skl Hia&l TIeeehIvl
.

3. Wdo YTAEl IW USRI 250 I fowl (FUdel @) [20]

(1) offefer foehTareRdd=n «ed e TR &

(ii) DHEA GHAU TOgd TR HA

(iii) Toreie <ma 9=yd SEred foemet fier T &
(jv) TorEEie <M Jodawas  dRom= fgeaT = &

4. TR 100 I dedE fow fow (FUER W) [20]
(i) forgwio Bma SguSE wu=rEl e
(ii) <G g
(iii) oM IR SO TmEeR Tl
(jv) =N fefdEie @Y

(v) TEEE JG GIRMH

(vi) VST IR dF Tgdrd THeH.
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[3804]-403
M.A. (Part II) (Fourth Semester) EXAMINATION, 2010
ECONOMICS
(EC-403 : International Economics)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt Al questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words (any one) : [20]

(i) What is disequilibrium in the balance of payments ? Explain

the causes of disequilibrium in the balance of payments.

(i1) Describe the recent changes in the direction and composition

of India’s foreign trade.

2. Answer the following questions in 500 words (any one) : [20]
(i) Explain in detail the methods of exchange control.

(ii) State and explain the objectives and functions of International

Monetary Fund.

P.T.O.



3. Answer the following questions in 250 words (any two) : [20]
(i) State in detail the role of Multinational Corporations.
(ii) Explain India’s import and export policy since 2000.
(izi) Explain the merits of fixed exchange rate.

(iv) Explain in brief the Heckscher-Ohlin theory of International
trade.

4, Write short notes on (any four) : [20]
(i) Types of terms of trade
(ii) Components of Balance of Payments
(iiz) Impact of foreign investment on Indian economy
(iv) Non-tariff barriers
(v)  Objectives of World Trade Organization

(vi) Intra-industry trade.

(W& T UIW)
d% : o9 a™ THOT 0T : 80
T :— () |a Yzd e
(ii) ISElhele 3k YO U SRifer.

({ii) SW THA! 9 HLHS THME[.

(iv) 3STeFasw 1 oot Heoh ARl Il

1. woe WA 500 IRM W fosl (RUARI TH) [20]

(i) TGS SHIe] BN ®E 7 FRRAOWS THJeT= SR
i T 6.

(ii) YR Afohele FEMe WS ANREr feam sufon & ade
ESCIREEIIC TN
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AT FEAE 500 I SW fodl (VAR WeR) [20]

o

() fafa faomren ugdl 9fasa) Tse .

(i) STRUSE AL e AT wE G 9 TR H.

WS FAEl Y&t 250 3IEd S foel (ke @F) [20]

(i) TEURE U e Hiaw 9.

(i) WRA™ 2000 UNAW HAEMG-TAfd RO T 6
(i) Ter faiwa = qu o= %

(jv) STALE FURE sFR-3Teed fOga  died[ o &

deqma feor fogr (FveEmd =m) [20]

() FER IEE GHER

(ii) TTERAISS Feah

(iii) WRfRI TAEUERIET URAE  SAdFERdee  gud

(iv) WEThd HETS

(v) TIIfd® AR T L

(vi) AN AR

[3804]-403 3
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[3804]-404
M.A. (Part II) (Fourth Semester) EXAMINATION, 2010
ECONOMICS
(EC-405 : History of Modern Economic Analysis)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B.

:— (1) Attempt Al questions.
(i1) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]
(i)  Critically explain the theory of value by Hicks.

(i1) Explain fully the contribution by Ohlin in International Trade.

Answer any one of the following questions in 500 words : [20]
(i)  Elucidate the Economic Geography stated by Paul Krugman.

(i1) Explain critically the Life Cycle Theory by Modigliani.

Answer any two of the following questions in 250 words each : [20]

(i)  State in detail the contribution by Gunnar Myrdal in Developmental

Economics.
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(i1) State how does Stigler contributed in Industrial Economics.
(iiz) Explain the portfolio theory by Tobin.

(iv) Why has the quantity theory of money by Friedman been called

‘Old wine in new bottle’ ?

4, Write short notes on (any four) : [20]
(i)  Preference theory by Paul Samuelson
(ii) Consumer theory by John Hicks
(iizr) Nash Equilibrium
(iv) The views of Amartya Sen on distribution of wealth
(v)  Endogenous growth theory

(vi) Permanent income theory.

(WS ®qial)
9% : o a™ TeRuT ot @ 80

e :— (j) T WA SAeRIR 3R
(ii) ISElhele 3k YO U SRiferr.
(iii)) IW HYS SN0 AHehl  STHTEld.

(iv) 3TeEIsh 1 SRl Yok kA HeEl.

1. UTOowh HUERI W WA 500 IR SW foRr [20]

() Tema = g fagae fewas aReor &

(i) STEeM I AWK HAUNGS IAFEH IR T2 FH.
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ToeUR HUER @R WA S 500 I few [20]

(i) dio ®HTHA AT ANE e T Fheddl AWk TR HA

(i) HRNGIRAM A= Siade  [Hgidre feswcass it .

GOGUh! SR eF  WIRN YS! 250 IR I foel [20]

(i) onfde faemde TR fhiele I dIFeM dfaw 9Em.

Gi) T I fenfres Iehmeme) w9 dren feo o I =

(ii) <o a=n e faga W &9

(jv) ‘A deemE A IR I8 fRedTen U w1 weo sy ?

qrerma feuar fogl (SR a9r) [20]
(i) dio ¥gdeEd A= gHdr fag

(i) A fem I=n Susien fagra

(fii) &1 I Gqed T9s

(jv) For=n foveHEEG oW W9 AEl SRR

(v) oasa g§ g

(vi) TR 3= fagE.

[3804]-404 3



Total No. of Questions—4] [Total No. of Printed Pages—3

[3805]-101
M.A. (Part I) (First Semester) EXAMINATION, 2010
HISTORY
Compulsory Paper 1
(History and Its Theory)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) All questions carry equal marks.

1. Attempt any one of the following questions in 500 words : [20]
(1) Explain the various definition of history with examples.

(2) Explain the relation between Economics and History.

2. Attempt any one of the following questions in 500 words :  [20]
(1) What are the main features of Enlightenment theory ?

(2) What is post-structuralism ? Give its impact on the writing of
history.

3. Attempt any two of the following questions in 250 words each : [20]
(1) Explain the cyclic theory of history.

(2) Examine the materialistic interpretation of history.
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(3) What is post-modernism ? Explain it.

(4) Examine the tradition of history writing in Ancient India.

4, Write short notes on any four of the following questions in
100 words each : [20]

(1) Greco-Roman’s contribution of history writing

(2) Ranke

(3)  Church history writing

(4) Explain the impacts of Romantic theory on the writing of history
(5)  Ibn Khaldun

(6) Antonio Gramsci’s concept of Hegemony.

(WS ®aia)
q% : o\ A Tepot T ¢ 80

ol :— () 9d YT Aemds SR
(i) @E YIAM FAM IO ST

1. TOOYR HUERE TR WD SW 500 ITe@ fomr [20]
(1) sfaemremn fafay =arem IQEvmdied T .
(2) sfae@m amfor AR T=Edie GOy TS h

2. UOGUR! AR Tl WA W 500 I=E o [20]
(1) dfgaet fagaet gea afmel w @ a2

(2) ITH-GEAERE BN w2 IW-H=AER 3ider SEeR shivld qiomy

ed d fere &
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3. WORUH! HUER B WD SW UGl 250 I fowl [20]

(1) sfdeEdie TwehrdEn faga T .

(2) faemrdie Jideare! faaae 9o .

(3) SW-3NYfThale WIS H1d ? T H.

(4) YN YRAde Sfaed oEd W9 qeu k.

4, TOGURI RURI AN dedd feur foer (IRt 100 I=@) : [20]

(1) sfde™ deArde Us-TuAmEt s

(2) T

(3) = sfaerEoE

(4) sfem oerelle E=sedERN  aRum
(6) =1 Wiegd

~

(6) SIS UEEET YyEER .
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